‘ASRIEEBAN—LABAZEDR BEFES

Yigy, 245% 78
Bt |F_ Va3—FrZATA i5iE 28 ISR 3 b5 EX7N
H
5 1330 | SRS 10100 B {LERBRT
V)
3| X 1315 | BEEDZ 13:15|BEEDZ
4 K 1330 28057
5 % 10:00 |BbIEETEIRE
1300 |SSEERH - RBETRS
6 % 900 |BHRBHES - LOTEESR
} 1300 BAEFEHRIRGT 1300 BAEFEHRINGT PM |SRNSKER GEETRE)
T 1315 |BEEDZ 1315 |BEEDS
H
9 9:00 |KE
13:30 | S BB E 13:30 | S BB E 13:30 | S BB E
10| w 1315 |REEDZ 1315 |RFEDZ 1000 | ESBRRLEERR
11| K
12| & 1400 Bi8&sE - 1” v MMEEEESR
1500 REETESR
13 & 10:00 | BiRKAESRRRRT
‘ CEOHHER | 1300 MEBRURRE
T . . o
1330 DFNED=
H
1 7 W . = =N . = =5 N [==) N ) = N ~
1315 |BFEDZ 1315 |BFEDZ RRBSSEBAUIYF—YaY
18] & 1330|8805 7 1400 | PR EWERIFES (BH)
1500 EIFTEO DT 1500 | EIFTEO ST RMSSEEE2E (7/31FT)
10.00 | #{bigRmERT
19| K 1000 NEHL - RESH
1300 BBt P - v TP v THHE
20 & 13:30 14:00
1730 | BIBED ST 1730 BBED ST 1730 BBED ST
+ BUOHEBI T 7—
H
900 KB
23 B 10:.00 | #EiERBERT
13:30 | S B 13:30 | S B 13:30 | S 2K PM |URVEBERREER
V)
24 X BREA-TV 13115 |IRsEED2 1315 |IRstED2
25| & 1330 BEH ST
56| * FAOZMSBUABRRE
13:00 | T EIEHE TR 13:00 | T EIEHE TR 13:00 | T EIEHE TR (T3 vTE)
o7 & MRE T=TI - BFRA
T
= 14:00 | iR 2R 14:00 | R 22 14:00 | R 22
30| B 10:00 | #{EIEREIRT
/
31 X 1315 | BEEDD 1315 | BEEDZ




